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int ans=1, a=2, b=3;
ROBNZRTUILEBDOEL ans DIEZE RS0,

(1) ans = a + b;
(2) ans = a + a;
(3) ans = 2 * ans;
(4) ans = b % a;

(5) ans = b / a;
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int a;

RDEFNZxRTULEDEE a DEZSZAIE ),
(6) a=(5-2);

(7) a = (int)1.0;

(8) a = (int)2.8;

(9) a = ((int)(2.5 + 3.4));

(10) a = ((int)2.6) * 2;
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int ans=3, a=2, b=1;
RDSX=RTUILEDEH ans DEZS AU,
(11) a = b = ans;

(12) b = ans = a;

(13) ans += a;

(14) ans = ++a;

(15) ans *= ans;
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int a=2, b=3;
ROENERTUEBEBEA (true 213 false) EBZE 0N,
(16) System.out.println(false);

(17) System.out.println((a - b) == 1);
(18) System.out.println(a >= b);

(19) System.out.println((b % 2) == 1);
(20) System.out.println((a = b) != 2);
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int a = 15;
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(1) System.out.println( "CAICHIE" );
(2) System.out.println( "RS" + a + "IFCTI" );
(3) System.out.println( "20 FEXTHE" + (20 - a) + "HTI" );
(4) System.out.println( a + "FHMDEE" );
(5) System.out.println( "3pt;BH0C" + a + 3 + "pt TI" );
(6) System.out.println( a + a + "I[F" + a + "M2ETI" );
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(1) 2

(2) 1

(3) "hello"

(4) true

(5) ©x5

(6) 05

(7) '¥n'

(8) 1.25
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boolean a=  |;

(1) if(a)System.out.print("A");

(2) if(a)System.out.print("B"); else System.out.print("C");
(3) if(a) System.out.print("D"); System.out.print("E");
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import java.io.*;
class Intermediate6_0{
public static void main(String[] args) throws IOException{
BufferedReader br;
br = new BufferedReader(new InputStreamReader(System.in));

int income, spend;
System.out.println("IRAZAD LT EEL\");
income = Integer.parselnt(br.readLine());

System.out.println("SHEZAD LTI EEU");
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spend = Integer.parseInt(br.readLine()); J
Y ommesm
if((income-spend) >= @)
{
System.out.println("2F)TI");
}
else
{
System.out.println(-1*(income-spend)+"MBHRFETI");
}
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